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1.
Introduction
According to the summary of email discussion #01 on “DL TEID E-RABs switch failure” [1], there is no conclusion on which solution to go among the available two solutions listed as follows:  

· Alt.1: the eNB releases the E-RABs which the eNB fails to modify;

· Alt. 2: In case of adding SCG bearer to SeNB (SeNB Addition /Modification procedure), the eNBs (MeNB or SeNB) keeps the E-RABs with the old GTP tunnel. And the data continues to be transmitted on the old GTP tunnel, i.e. the MME shall not trigger the Dedicated Bearer Deactivation procedure for the failed E-RABs. In case of releasing SCG Bearer(s) for SeNB (SeNB Release / Modification procedure, the MeNB tears down the E-RAB when receiving the E-RAB Modification Response from MME.

The issues above will be investigated in this paper and the corresponding proposal is also given. 
2.
Discussion
Firstly, it is investigated from the use case point of view. 
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Fig.1: Deployment scenarios of small cell.
Currently, one eNB may connect to several S-GWs, which is also very normal deployment scenario for S1/X2 based handover. By introducing dual connectivity, this principle is still valid. On the other hand, there are a big number of SeNBs around Macro eNB as shown in Fig. 1. In this area, for sure several S-GWs exist. Macro eNB may connect to all of them. However,  the number of S1 connections may be limited therefore it can not be guaranteed that every SeNB connect to all of the same S-GWs. Especially, in the Macro cell edge area, the scenario would be normal that only part of MeNB UEs are connected to S-GW1 while the other UEs are served by S-GW2. If SeNB connects only one of the two S-GWs, error may happen when MeNB triggers the addition procedure since MeNB has no way to know UE’s S-GW exactly based on the current spec.   

Observation 1) It cannot be guaranteed that every SeNB can connect to all of the S-GWs in the dense area, which may be possible only for MeNB. 

In the situation above the failure may happen during the path switch, which means that it could not contact SGW or SGW could not switch the path. To solve it, several solutions [2][3] were proposed in last meeting, however they are  not agreed in Rel-12 time frame. So the only choice is to let MeNB take care about the E-RABs as they are still on-going there. 
On the other hand, basically the DC is to increase the user throughput, this is not the case like handover that need to be done otherwise the connection may fail. Taking this into account, for DC, if the E-RABs that fail to be switched are still in the MeNB’s cell coverage, why then need to tear those E-RABs down?
In addition, the case should be considered similar to a failure during an addition of SCG bearer; then this does not result in releasing the E-RAB because the E-RAB can still be served by the MeNB.
Observation 2): From service continuity point of view, it is beneficial to keep the old TEIDs for the E-RABs
Secondly there are several comments for not supporting Alt.2. The first one was that MeNB continues to try to switch the path multiple times. It is not accurate. As mentioned above, MeNB may keep the E-RABs to be served by itself or MeNB may offload the E-RABs to other small cell. 
Observation 3): MeNB may have many choices later instead of just releasing the E-RABs
The second comment was that introducing the enhancement is not necessary for it is a rare case. About whether it is a rare case or not, it is not easy to judge. For example, the deployment of Fig. 1 should be normal case. In addition, in the past specification we have defined many actions for the error happening cases. On the other hand, two Alternative solutions are very similar from specification impacts point of view by referring the available following TPs for both solutions: 

· Alt.1: If the E-RAB Failed to Modify List IE is received in E-RAB MODIFICATION CONFIRM message, the eNB shall t release all corresponding E-UTRA and E-UTRAN resources for the concerned E-RAB. If the E-RAB Failed to Modify List IE includes all E-RABs of the UE, the eNB shall decide its subsequent actions and the MME should behave as described in TS 23.401 [11].
· Alt.2: In order to avoid release of E-RAB unnecessarily, the MME does not need to trigger the Dedicated Bearer Deactivation procedure for the E-RABs failed to modify so that the old transport path can be kept in the SGW. In case of adding SCG bearer for SeNB, the MeNB triggers to release the corresponding SCG bearers configuration in SeNB. In case of releasing SCG bearer for SeNB, the MeNB tears down the E-RAB in the E-RAB Failed to Modify List IE.
It can be seen that even for Alt.1 both eNB and MME behaviours are involved. For Alt. 2, it is very similar. So I would like to call it smarter handling instead of calling it enhancement. 
Observation 4): Both eNB and MME behaviours are involved even for Alt.1, so Alt. 2 is not complicated compared with Alt. 1 and it is a smarter handling way rather than enhancement.
Based on the observations above, the following proposal is suggested to RAN3:
Proposal): It is suggested to adopt the solution Alt.2 as a smarter handling way in case of DL TEID switch failure and also adopt the corresponding TP [4].
3. Conclusions
This paper investigated the open issues on DL TEID switch failure based on the summary of email discussion #01. The following proposal is suggested to RAN3: 
Proposal): It is suggested to adopt the solution Alt.2 as a smarter handling way in case of DL TEID switch failure and also adopt the corresponding TP [4].
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